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> TODAY'S AGENDA:

e Continue working on Khan Academy
« Mission: Engage NY Module 4
>  Systems of Equations Word Problems

« Today's Objective:
> Students will be able to graph a line, given
the equation of the line in Slope-Intercept
Form

« Today's Standards:

> 8.EE.C.8, 8.EE.C.8b, 8.EE.C.8¢c, HSA.CED.A.2, HSA.CED.A.3, HSA.REI.C.6
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Solutions to System of Equations

* What is a System of Equations?

> A System of Equations is a group of two or more
equations.

* What is the Solution to a System of Equations?

> The solution is the point(s) (as coordinates in (x,y)
form) that make the equations true.
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Dr. Potter provides vaccinations against polio and measles.

Each polio vaccination wns.ia@d each measl aerTTabeRLqnsists a5L year, Dr.
Potter :_gau(a total of G vatci-mtiﬁnﬁ.vL consisted of affotal of 184 doses.

How many polio vaccinations and how many measles vaccinations did Dr. Potter give last year?

Dir. PGLLE@VE 3 Zytﬁlir_‘:- vaccinations and 28 ingtions.
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Sk 5:|ea<€ 150 ).-G*m per minute on average #rHuUngarian, ; -1Lard:'. per minute on average in
@ ne gnce gave cooking instructions in Hunganan, Tollowed Oy Cleaning ' T akura
spe I'..jl giving both instructions, and spo @- re wiords : nd@n Hungarian.

How long did Sakura speak in Hungarian, and how long did she speak in Polish?

Saxura spoke for 2_ minutes in Hungarian and for 3 minutes in Polish.
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The com ageyvei hLon
Qﬂklogra @ average weight o

On average, how much does an olapi weigh, and how much does a llama weigh?

On average, an okapi wei:_ghshz ﬁ D kilograms and a llama weighs / é
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Each chel at "Sysss=tsgperor” prepaculla ar daily. On Tuesday, each
customer a rn::lll5 and 3 vBgeranan rolls. By the ento™Ne day, 4 regular pa sl vepetarian
roll remained Oeaten. . \

A (\( Tria

How many chefs and how many customers were in "Sushi Emperor” on Tugsday? < (.
go

There were 2-\ chefs and ,B customers.
CHESS COSTOMERS [le£r dur

SSRA20VI 2R3y, [HRAIV
5 114 |31

2:20+ Y0 B=1.5X -
26 3 k?f—/éws 37%=13




	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6

